IYZaFLEREIS

T 5 W 5 < #R HH M
2= | =88 % B & W) m @ E
1 R2.4.6 AHERE 12,442 |2E—#)—AR
2 R2.4.27 BHBAHR 4,037 | P ¥
3 R2.5.7 BHERR 12,442 | 2E—#)—AR
4 R2.5.27 EHEAR 4,037 |4 F AR
5 R2.6.4 BHEERE 12,442 |OE—)—AR
8 R2.6.23 %% 314,490 | —1—ANo.214
7 R2.6.24 AHBAR 19,200 | AKMEMRFEREABE]
8 R2.6.24 HER 4500 | EEREFEREEE =
9 R2.6.29 EHBAR 4,037 | F Hih
10 R2.6.30 BHEAR 4,180 | BER
11 R2.7.6 ARAERR 12,442 |lOE—H#)—AK
12 R2.7.8 LR 4,270 [HEEESRIBR
13 R2.7.9 LER 1,010 |[HRBERBH
14 R2.1.27 HEHEBAR 4,037 | #ilE
15 R2.7.31 AHBAR 16,940 |21 B (FET)
16 R2.7.31 %% 3,660 | BEESHR
17 R2.8.4 AR R 12,442 |2 —#)—AR
18 R2.8.8 TR 2000 |FERES &
19 R2.8.17 7% 5= 316,690 | =1 —ANo.215
20 R2.8.27 HHBAR 4,037 | F i
21 R2.9.4 HEHERE 12,442 [aE—H)—AK
22 R2.9.7 0308 9,157 |[a—m#
23 R2.9.7 LHE 134,738 |FO¥zH5—
24 R2.9.26 HEH 1,000 |FEESAHK
25 R2.9.28 EHBAR 4,037 |#F 6
26 R2.10.5 EHERR 12,442 | —#1)—AK




32| =ne W B 'R (G "I
27 R2.10.7 I 1,830 [hRESRIBR
28 R2.10.15 LEEE 1010 [BHERER

29 R2.10.27 BHEAR 4,037 | F #iH

30 R2.10.28 %% 5487 |70z o48—r—T
31 R2.11.17 LHE 318,890 | A —1—ANo.216
32 R2.11.27 AHEBAR 4,037 | FHE

33 R2.12.4 ERMERE 12,442 |2E—#J—AHK

34 R2.12.23 [LEE# 1,010 [(HEHEBE

35 R2.12.24 AHBAR 2,000 | BHFHHE

36 R2.12.28 BHEAR 4,037 | B P HHR

37 R3.1.4 ERERE 12,442 |2 —#J—AK

38 R3.1.14 EHBEAR 4,785 |BEEM

39 R3.1.14 LERE 322,190 |HEH =1—ANo217
40 R3.1.27 HEHBAR 4,037 |#F A

41 R3.1.28 HHEBAR 1,000 [EHFHHE

42 R3.2.4 BHERHE 12,442 | —i)—AHK

43 R3.2.5 g4 2,840 BB ESREH
44 R3.2.6 ER 1,000 | &L

45 R3.3.1 EHBAR 4,037 |PhF AR

46 R3.3.4 HHERE 12,442 |l2E—#8)—AK

47 R3.3.8 AHEAR 1,000 |BFIFHHE

48 R3.3.26 g - 3460 B ELLHE

49 R3.3.29 BHEBAR 4,037 |

50 R3.3.31 L8 425,150 | B E =1 — A HERI kR

2,108,794




